3
3876 3 49,61
13.81 ; -4.20
14:69 & -2133

D50 [lluminant, 2 degree observer

6313
3543
57.84

1025 | 4736 [ gm0
477 | 1693 | yoo

AD.OB‘ 5175 | 9534

8237
112
0.56

centimeters

]mll[lI|||1Ill]lll|'2|ll||||I|3ll|;llll|4|ll|i||I|5||||'|7||7|6|l||l||||7

|
‘L_* I—— 16 2 | 72 2526
- 4961 i . i s 433 | 30 7250 | 7210 | 2051 | 5580 2 X X
129 1347 | 3846 .74 .24 49.90

e 0. B X ; 032 2292 | 1351 X
0.10 .4 X . E -0.47 -19.( 56.08 67.85 47,69 3218 B -12.86

Density ——» 005

0,09

0.22

0.36

p”” M'le'a»vs; 075 098 { ] 1.96 238 Allvalues are batch averages M@ @ 94 e 8
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